@ HURAKAN
AMNMAPAT A/19 BAPKU KYKYPY3bl HURAKAN HKN-CDC30




ANMNAPAT ANA BAPKU KYKYPY3bl HURAKAN HKN-CDC30

Mos HaumeHoBaHue getanu
1 Cap
2 Dish cover
3 Lid
4 Ring
5 Screw M5*14
6 Steamer
7 Inner stand
8 Body
9 Screw M5*18
10 | Seal washer
11 Handle
12 Water gauge nut
13 | Glass tube
14 | Water gauge sheath
15 Handle of tag
16 | Tag tightening nut
17 | Tap spring
18 | Tag connecting rod
19 | Rubber gasket
20 | Tag
21 Nut M22
22 | Sealing ring
23 | Washer
24 Bottom
25 Leakproof silicone ring
26 Compression ring
27,28 | Nut and screw M4
29 | Heating element
30 | Outer bottom
31 | werline
32,33 | Internal cabel group
34 | Limit switch 135 degree
35 | Base bottom
36 | Thermostat
37 | Red light
38 | Sealing bottom plate
39 | Nut M4*20

@ HURAKAN



